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B. A. Pt. lll Examination
History of Modern World (1453 - 1950 A.D.)
Paper - HI-06
Time : 3 Hours ] [ Max. Marks :- 70

Note: The question paper is divided into three sections A, B and C.
Write answers as per the given instructions.

fAder: g we ux ‘o7, ‘¥ 3R ‘@ fiH wuel 7 Ao d g1 ud®
Gus & MGATTAR el & IR S|

Section - A 7X2=14
(Very Short Answer Questions)

Note: Answer all questions. As per the nature of the question
delimit your answer in one word, one sentence or
maximum up to 30 words. Each question carries 2 marks.

Qus - ‘37’
(rfer o7 IR 9e)
fder: vl meal & IR FRITI AT 3707 IR Bl TRATAR Tb 9Teg,
U a1 AT AfeeheH 30 ereal H IRHAHT DRI Idiep ue
2 37l T ¢l
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1) (i) Name two philosophers of Europe.

TR & I ARt & 9M faRau

(i) What is factory system?
therct IRl a7 8 2

(iil) What is Monalisa?
TR T § 2

(iv) Write the slogans of French Revolutions.
A ghifcr & ART @ faRag|

(v) Define Mercantilism.
arforsgarg & gRYTYT Hifvrg|

(vi) What was the purpose of carbonary?
DRI T I FT AT ?

(vii) Who was the founder of Nazi Party?
TSt ST BT AERITAD DI o7 ?
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Section - B 4 X7=28
(Short Answer Questions)

Note: Answer any four questions. Each answer should not

exceed 200 words. Each question carries 7 marks.
Yus -
(oTg ITRIT UeA)

fAder: gl IR Ul & IR ST 3T 3 IR Dl 37feIhad

200 o) ® uRHifia Hifvomgl Uedss U9 7 37l & gl
Explain the causes of renaissance.
JSTIRUT & BIRUT FATST|

Write a short note on Industrial Revolution.

3ieNfies shifc WR Tep e o fotRau|

Explain the significance of French-Revolution.

HIRRAT Shifdl b Hged Pl ATV

Write a short note on Russia-Japan war (1904-05)

AU g (1904-05) W U dfam fecuft forReu)

What were the various stages of verification of Germany.

STHAY & TehlepRuT Y fIfeT araveemy @ off ?

Describe the causes of renaissance.

JASTRIRUT & RN T Ui hITY|

Write a short note on Berlin Congress.

gfefT BT R T Afdg org foaRau)

Examine the causes of the failure League of Nations.

Al SRIBAT b HRUN DT T Doy
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Section-C 2X14=28
(Long Answer Questions)
Note: Answer any two questions. You have to delimit your each
answer maximum up to 500 words. Each question carries
14 marks.

Qus - |
(e TR ¥ed)
fAder : el Q1 Uel & IR SRTI 3T 3o ITR B 3fErepead 500
gregl B gRAfT HITTI URd T 14 3t o7 &

10) Discuss critically the main causes of first world war.

T 349G & W BRI BT SATAIHD URI&0T DTy

11) Write an essay on Russian Revolution during 1917 A.D.

1917 3. & v Hifd W T oig foRau|

12) Give a detail account of Eastern question.

At TR BT faga &dIRT ST

13) Evaluate the reformation movement in Europe.

TR H GHRIER TRIe Bl e DI
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